
Algebra 0507 

Chapter 1 

Intro to WS # 6                                  Name___________________________________ 

 

Solve. The replacement set is :  { 2, 4, 6, 8 } 

 

1.   2 10x   Solution Set: _____________________  

2x   4x   6x   8x   

 

2.  3 5x    Solution Set:  ___________________ 

2x   4x   6x   8x   

 

3.    3 18x   Solution Set:  _________________ 

2x   4x   6x   8x   

4.     
2 2 6x    Solution Set:  _______________ 

2x   4x   6x   8x   



 

 


